the candidates to read the

First 15 minutes are allotted for
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1v)

v

vi)
Note: i)

i)

iii) beginning of each
juestion, the number -of parts to
be attempted has been clearly

mentioned.

iv) Marks allotted to the questions
are indicated against them.

v] Start from the first question and
proceed to the last one.

vi) Do not waste your time over a
question you cannot solve.



the values of x, y, z. 1

b) Find the principal wvalue of

1

| Turn over



points P(2,4,-6) and Q(-5,2,7). 1

) Solve : | 3x-2[< . 1

¢) Find the point on the parabola
Yy~ =12x whose ordinate is thrice

- of abscissa. 1

B
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2. Attempt any four parts of the following :

a) - Solve the inequality

X _oX—2 IX=3 __ 4 g
5<T3 "3 . apd «w on

TQsO* ysinb =a be the tangent

of circle x* +y° =a®. 2

d) Find the ‘eccentricity of the

hyperbola x? +2x-y*>+5=0. 2

e)  Prove that the matrix
[0 1 —-17 |
1 -1 0| |

M=

symmetric matrix. 2

748539 | | Turn over




2

X2 +y? +2ax+c =0 aqdl

748539
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1 x y+z
l y z+x
1 z x+y

3. Attempt any four parts of the following :

a) If A= [_515 é] , then prove that

A2 -5A+7I=0, where I be the
| identity matrix. - 2
b) If the angle between the straight

lines joining foci and ;h Gds of

minor axis of ellipse

@ _'26"‘"’1, find
A

d)  Prove that the circles

x* +y® +2by +c = 0 will touch
each other, if -—1-5 + _1?2_ _1 . o
a b C

748539 - [ Turn over
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4. Attemt any three parts of the

a )éi |

b)

i o

whose foci are (6,4 ) and (-4, 4)

and eccentricity is 2. 3.

748539 | Turn over
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d) Prove that any square matrix can

be expressed as the sum of a

symmetric and a skew-symmetric

matrix. | 3

748539



S. Attempt any three parts

following :

a) Prove that

(b—c){c—a){a-b)(a+ b+ c) (@® + b* + c?).
which the line
joining the points (4,8,10) and
(6,10,-8) is divided by yz-pla ne.

b). Find the ratio in

748539




of hy p@fbl

a
prove that a 212 _ p gm ca_— 3
d) Prove that the semi- lﬁms rectum
of the parabola y~ =4ax is the
harmonic mean etween the

segments of any focal chord%ef the

parabola.

L + z° +2xyz =1. 4

g) o g g s

3x+y+2z=2

2x-4y+3z=-1
4x+y—3z=-11. | 4

748539
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1 I

a) Ifcos™ x+cos ' y+coslz=n

then prove that
X’ +y*+z? +2xyz =1. 4

b)  Solve the following equations by

Cramer's rule :

748539 [ Turn over
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| x x® 1+x°|

1 = 2 - o |

= (1 + xyz} (x-y)ly—-2z)(z-x)

Solve any one part of the fmllﬁaw g:

= (1+xy2) (x - y) (Y - 2) (- %)

;

748539 .



8. Attempt any one part of the following :
a) Prove that the length of intercept

chord y line y = mx on ellipse

x2 y _ Yty |
_2, .. b_g l1s 2ab,.f—

V a“m® + b



b)  Prove that the lml_-ié s of the mid-
points of me portion - of the

M

R A il
tangents to the ellipse — +Fx=1

H‘e

18]




